[—F#ICE CABEIZHEYET] (B)

SEH 850 £
RFfEITEEE/EE) () 9,452 |/
SEMEHBARS VT4 7 3,490 &
11 RENE 1,500 2
112 E-HERKFAN 600 =
113 N RAAJLIS— 100 &
114 350 120 2
115 /8 O igE 450 =2
116 AFAET K/ A F— 0 R
119 FEEZ Dt 120 (2
BHUBRZERTIVTAT 3,042 |1
122 Yo+v—ILFEEH 794 1
123 7\‘}'/_7(3#_\_-[%:‘“557%!2 48 nmn
126 T4 — -S4 72LE 2,200 2
ZEHEE 860 ;=
3 EELEFEMEE 860
ZTDhEE) 2060 =
EHAE - SMTOMEHER 1620 1
:_7__\\’{ *_ I\ 180 NN
ZDith 260 =
EHEH 11,077 &
- SMERSE B 3,880 m
210 /RS VT4 7 1,460 £
(HURITL, TADT)—--S47ELE. OOHT-BEE. ZODMiESR)
220 FETCKERS VT 47 1,420 =
(EFBRDE, FELWWEWELRE, FHOZTERTYEK., TOMFE TXHIE)
230 BEERS VT4 7 800 ;=1
(7 BFTb-1Js8— - NALCKREFIII, 2)—2-7H T+, FOMIBEEL)
240 FDOh (VoM -THERFBXEELVEA—. P2 7XEFH. HEEFHLL) 200 (2
- NER;EED 71,197 =
250 NALC;EE) (hER<. EEFEER. R4 VIR, A—F1F2—4—5H ) 2,023 =
SEIRE) (REWE. 1RV, EHUALHS. HEAR. XONYOUHE) 4,180 =
ZDith (FEMFV., FRYLE) 994 |
SZEEXTH
- EENAVEIEFE 25 IFDOEREELD
- EEFERERTSY 2t 1EOEEELLD
Xk - RAR—VEH 2,700 &

-22- Printed:2011/7/19




